(HARIE L)

Bz |Favy| K28 | BS BFA 24 | @% | YDS |LONG| TD
1 T IHK 46 |HF £XKE 3 5 25 22 0
2 T IHK 6 |WHE B2 4 2 39 32 1
2 T BFEHE 24 |\ AR 3 2 28 28 0
2 T BRAX 28 |#IL FX 4 2 22 14 0
2 T BB X 6 |BEK R 2 2 22 14 0
2 T BFEHE 3 |RE BF 4 2 17 17 0
2 T EEX 27 |#EEH 5%—HB 4 2 17 10 0
2 T IHK 8 |/Lt #® 2 2 15 15 0
2 T EBUK 57 |#&F #nth 4 2 14 14 0
2 T EBEX 21 |FHE BFE 4 2 4 3 0
2 T BHAX 15 =@ K& 4 2 0 0 0
2 T hRX 20 (LB fMFE 4 2 0 0 0
2 T BAX 18 [kEA =X 3 2 0 0 0
2 T BRA X 24 |E A 2 2 0 0 0
15 T EBK 49 |ARlh KHE 1 1 32 32 0
15 T BAX 60 |iEA R 1 1 27 27 0
15 T HAX 12 [/hAER Flz 2 1 24 24 0
15 T BHEX 6 |HeE 8 2 1 13 13 0
15 T hRX 51 |&k HE 4 1 12 12 0
15 T EEX 1 RE Ef 4 1 5 5 0
15 T hRX 25 |E @t 4 1 2 2 0
15 T BFEHE - |Ik#H HEX 1 1 2 2 0
15 T AKX 3 |e—F4— Tmrvy 3 1 1 1 0
15 T EBUK 22 |®H FEN 2 1 1 1 0
15 T EBK 2 |RE BF 4 1 0 0 0
15 T FRBUK 33 |FEF 4 1 0 0 0
15 T EBUK M |BrE F&E 4 1 0 0 0
15 T EEX 44 |NEE  Kih 4 1 0 0 0
15 T SIHXK 22 (WA #=¥F 4 1 0 0 0
15 T L=k 12 |&f Kb 3 1 0 0 0
15 T EBK 3B |HFH B— 3 1 0 0 0
15 T EBEX 43 |5 B 3 1 0 0 0
15 T X KV b N 3 1 0 0 0
15 T IHK 26 [/MR OIEX 3 1 0 0 0
15 T IHK 59 |RAK EC 3 1 0 0 0
15 T BiEA 21 [/ME7F  ABEH 2 1 0 0 0
15 T EEX 30 |sFE = 2 1 0 0 0
15 T X 9 |FE HRE 2 1 0 0 0
15 T BAX 16 [AAO #®WE 1 1 0 0 0




